Final Exam- Second Term
English Section, Year Four
Course: Accounting Information Systems

Date : 27 -5-2015 Time: 2 hours

Answer the following questions:

Question 1 (4.5 Grades, 35 minutes):
A: Couid you clarify what is meant by the following terms (Choose three terms
only)?
e Master key
e Data flow diagrams
*  Document flowcharts
e Internal controls

B: When any company receives sales request from its customer, the activitics in
revenue cycle begins. As you an AIS expert, design documents flowchart
showing the documents flew among different departments that participate in
the revenue cycle?

Question 2 (4.5 Grades, 35 minutes):

Compare between the following items showing their concepts, advantages, and
disadvantages (Choose three items oniy and show your answer, if possible,
using tables and/or diagrams):

»  Master file and Transactions file

e Risk assessment and ERM-Risk response

*  FRP advantages and Database advantages

¢ File-oricnted systems and Duatabase-oriented systems in the accounting
applications

Question 3 (6 Grades, 50 minutes):
Write briefly in four subjects only of the following subjects showing your answer, if
possible, by diagrams or flowcharts:
* Internal controls components in Accounting Information Systems
=  Revenues eycle activities and their threats and controls
= Event/ Risk / Respond Model
= Types of flowcharts

With my best wishes
Mohamed Wahdan, PhD
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Final exam (201412015)

2"Ysemester
Menofia University
Faculty of Commerce
Fourth Year
Course: Feasibility Studies English section

23-5-2015

Economics Part ( 5 marks)
1- Define the Shadow Price and what are the reasons for the

deviation of market prices from the economic prices?

2- What is the difference between financial criterions and economic
criterions?

With m st wishes

-l
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Menoufiya University- Faculty of Commerce
Dept. of Business Administration

Feasibility Studies (The Marketing Study)
(Final Exam. June, 2015)
Professor Thabet A. Edrees

1. Complete each of the following statements with a brief explanation:

1.1 The principal marketing study seeks the following objectives:

a-

b-

Cc-

d-

1.2 The data collection methods that are usually used in the principal marketing
study are:

a-

b-

c-

1.3 In addition to demographics, there are some other bases that can be used to
segment the consumer market:

a-

b-

Cc-

d-

1.4 The potential customers can be described and profiled on several bases as follows:

a-

b-

c-

d-

e-

1.5 key methods of demand forecasting include:

a-

b-

c-

1.6 To be useful, market segments must exhibit the following characteristics:

a-

b-

c-

d-

1.7 Identifying the target market calls for two major steps:

a-

b-

Q.2 True and False Statements. Put into bracket (T) for a true statement, and (F) for a false
Statement:

() Demand forecasting is a planning and controlling tool for business corporations.

() In demographic segmentation, buyers can be divided into groups according to their lifestyles,
and personality.

() The survey of buyers’ intention is appropriate for forecasting the potential demand of an
existing product.

() The principal marketing study is based mainly on secondary data.

() The product specifications should be determined according to the potential
customers’ needs, wants, and tastes in the target market of

() The potential individual customers of a business corporation can be segmented
according to the product benefits.

() Undifferentiated Marketing means that a business company can use one marketing program for

the target market.
() Markets can be segmented according to the product usage rate.
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Final Exam- Second Term
English Section, Year Four
Course: Tax Accounting
Date : 13 -6 -2015 Time: 2 hours

Gyt it

Bl A

Answer the following questions:
Question 1 (5 Grades, 40 minutes):
An employee in a private sector company gets .. 1500 per month as a basic
salary and L.E. 400 as a work nature allowance per month. He owns a building
composed of five floors of equal rental value, each floor includes two apartments.
He lives with his family in one of them in the first floor, and leased a furnished
apartment in the second floor for residence of students at annual rent of
L.E.12000. So, if you learn that:
|- He practices the Accounting and Auditing profession in a private office,
actual revenues for 2014 amounted to L.E. 50000 (of which L.I. 10000
from outside Egypt), and L.E. 10000 sales price of some equipments and
tools in his office, their book value is L.E. 5000. His office expenses were
L.E. 20000 (of which L.E. 6000 travel expenses and staying outside Egypt).
2- He paid Life insurance annual premium of L.E. 4800 to favour of his wife.
3- He paid tax on salaries of L.E. 1400.
4- His share in social insurance is L.E. 1700.
5- Building 1ax assessed against building and paid during the year of 2014 was
LI 950.
6- He sales an apartment for L.E. 220000, its cost is L.E. 70000.
Required:
1- Determine tax base of income of natural persons for the year 2014,
2- Calculate the tax due.
Question 2 (5 Grades, 40 minutes):
First: An cxtraction company extracts a mineral from mines and sclls to a
manufacturing company for L.E. 9000.
The manufacturing company that processed metal products sells to a wholesaler
for L..E. 25,000.
The wholesaler sells the metal products to number of retailers for L.E. 30,000.
The retailers sell the metal products to the final consumers for L.IE. 37,000.
Required: calculate the sales tax due and transferred to the sales tax department
adopting the value added approach.
Second: The following arc taxable net revenues (or losses) of onc of a taxpayer

resident in Egypt for the years 2012 and 2013 gababe
~ ltems [ 22 LE. ] 2013 LE
1- Salaries & the Like 9000 13000 !
2- Commercial Activity 8000 2000
3- Professional Activity (22000) 16000
4- Real Estatc Wealth 3000 5500

Eﬁyou learn that taxpayer paid during the year of 2013 a buil(iing tax of L.I%. 700.
Required: Calculate the tax due for the years of 2012 and 2013

1
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Minufiya University

Faculty of Commerce.

Business Administration Dept.

Second Term — Final Exam, 2014/2015.
4™ vear Students, M. English Section.
Date: 13/6/ 2015.

Time: 2 Hours.

e o o o o o

Course: Manag| t of Specialized Organization
A.Prof.Dr. Amgad Hamed Omara

Answer the following two questions:
Question : (1) (7.5 Marks)

"Within the context of the mobility toward an aggregate development and striving for a sustaining economic
progress, the span of depending on those specialized organizations, which are practicing an activity with a very
particular nature is getting more extended. yet, it has contained too many sorts of organizations such as;
schools, orphan homes, different types of farms, TV channels, universities, commercial banks, Hotels, insurance
companies, airports, investment banks, family and life coaching, seaports, maritime transporting companies,
hospitals, medical lysis laboratories, cleaning and recycling companies, funeral and memorial services,
wedding halls, clubs, interior design and decoration compani ploy t offices, ity develop t
societies, tourism companies, health care institutions, elderly care homes, kids nurseries, premature
incubations, and others ..."

choose just one of these organizations and then clarify, in your view, the following items:

e Justifications you can stand on to consider that such a selected organization is particularly having a
specialized nature?

e A practical framework describes the fields and characteristics of the activity being practiced by this
specialized organization?

s Reflection of the organization's nature as well as its activity fields and characteristics on both the
functions and practices of management?

Question : (2) (7.5 Marks)
Discuss in detail just one of the following two subjects:

e The role to be done by the investment mutual funds in serving the purpose of economic development?
e The role to be done by the family and life-coaching offices in serving the purpose of social
development?

Best wishes
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Menoufyia University Final- Term Exam (2014/2015)
Faculty of Commerce

English Section Program Time Allowed: 2 Hs
Course: Recent Economic Issues
Level: Fourth year

Answer the Following Questions :
Ql:
Define the Following

Externalities
Spillover cost.
Spillover benefit.
Q2:

What are the policies to achieve economic growth?

Q3:

Write short notes on the following

A- Economic Reform in less developed countries.
B- Privatization.

C- 0il Crisis in 1970s.

D- The 1980s: Debt Crisis in 1980s.



a-
b-
c-
d-

2.6 Among the uses of secondary data are:

a-
b-
c-

2.7 The following are critical moderating skills that are required in the focus-group discussion:

a-
b-
c

d-

2.8 Among the projective techniques used in qualitative marketing research are:

a-
b-
c-

Q.3

40min K

3.1 A marketing study conducted by “Al-Ahram newspaper” to estimate the average age of its

readers in Cairo. The study used a random sample of size 200 readers that drawn from the
population under investigation. The findings of the study indicated that the average of the
readers’ age in the sample is 30 years, and the standard deviation of age in the population
under study is 9 ). Estimate the average age of the newspaper’s readers in Cairo with

95%, and 99% confidence levels. (15 minutes).

3.2 The marketing research department of the National Bank of Egypt located at Tanta city

decides to conduct a survey to evaluate customer satisfaction with the services provided. The
sample size that should be selected from the population of customers is 500 cases. The total
number of population of customers in Tanta city is (20000), and they can be classified into
three segments as follows: individuals (6000), businesses (3000), and governmental agencies
(1000). Based on the Directly Proportional Stratified method, what is the sample size of

each customer segment ? (15 minutes).

33Ina marketing study, a researcher assumed that the confidence level in the estimation of the

population mean is 95%, and the allowed sampling error in this estimation should not exceed
is the sample siz t should be in this study ( the standard deviation

n ‘e opulation is ? (5 minutes)
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Menoufia University
Faculty of Commerce
Dept. of Business Administration

Marketing Research (Final Exam, June, 2015)
Professor Thabet A. Edrees

Pleas: Smili
Q.1 True and false guestions (20 minutes).

() One of the advantages of the mail survey is the high response rate.

() Observation may be the least expensive and most accurate method of collecting purely
behavioral data such in-store traffic patterns.

() Marketing research can not be conducted without secondary data.

() Survey research is threatened by both sampling error and non-sapling error.

() One acceptable use of qualitative research methods is to gain insights into topics that might
be impossible to pursue with structured research methods

() Fax surveys are appropriate when the questionnaire does not require high image quality or
color.

() Qualitative research methods are generally more structured and intensive than survey research.

() In non-probability sampling, all members of a population have a known probability of being
included in the sample.

() In survey research, the classification of respondents by age is an example of the nominal
scale.

() Unwillingness to respond to the survey is often occurred because of ignorance or forgetting.

( ) Ingeneral, sampling error can be reduced if the sample size is increased.

( ) The best place for sensitive questions is at the beginning of a questionnaire.

() Responses obtained from open-ended questions are generally easier to be tabulated and
analyzed.

( ) Telephone surveys are preferred when a large amount of data is required and when the
questions are complex.

() With web surveys, no interviewers involved, thereby eliminating interviewer error and bias.

() The key advantages of the mail survey are.its appropriateness for lengthy questionnaires, and its
efficiency to reach and control the sampling units.

() Systematic sampling is one of the non-probability samples.

( ) Projective techniques can be used in marketing research to collect data about motives of buying
behaviors.

() If a sampling frame is not available, one can not use a probability sample for his/her research.

() Exploratory research is required for both descriptive and causal (experimental) research.

followin ments (60 minutes).
2.1 Among the guidelines that should be considered carefully in question wording are:
a-—
b-
C—-
d-
2.2 There are three types of research:
a-
b-
c-
2.3 Among the reasons of unwillingness to respond accurately in survey research are:
a-
b-
c.
d-
2.4 Among the factors affecting the choice of a survey method are:
'° -

b-




Faculty of Commerce.

Business Administration Dept.
Second Term - Final Exam. 2014/2015
4" Year Students, M. English Section.
Date: 5/6/ 2015.

Time: 2 Hours.

Course: Public Relations and Advertising
A.Prof.Dr. Amgad Hamed Omara

Answer the following two questions:
Question : (1) (7.5 Marks)

" You've lately been in an interview on the way to work in one of the ads agency, then the interviewer was
using his narrative way to tell you a virtual story about what you are nearly faced with everyday .

He said; you have exposed to one of the ads that's broadcasted or published throughout the internet,
television, social media, specialized journals, daily or kly issued papers, doors, radios, bil
posters, in-stores, transit, yellow pages, entertainment homes, video games, place-based media, movie
theaters, promotional products, formal issues, or whatever the mean of mass publicity, how can you:

* Describe the idea, content and form of this advertising?

*  Outline the wide range of the conditional characteristics to consider when generally designing ads.?

e Make use of these conditional characteristics to evaluate and/or criticize such an advertising?
Show to what extent you were successfully capable to answer these interviewer's three questions?

Question : (2) (7.5 Marks)

In your view, show to what extent, just one of the following subjects, does make sense in the field of
advertising:

e  Moving freely between what is traditional and modern in the scope of support media?
e social, ethical, and economic aspects to be greatly considered when using advertising?

Best wishes
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Menoufia University May Exam 2015

Faculty of Commerce 4"Year
Accounting Department Course: Feasibility Study
(The English Section)

Accounting Part:
Answer the following question:

A) Sammora Company is choosing between two investment projects to
invest in ( Project X , Project Y ). The following table shows the initial

cost, the annual net cash flow, and the expected life of the two projects:

Project X Project Y
Initial cost $ 800,000 $ 900,000
Annual net cash flow $260,000 $ 297,000
Expected life 6 years 5 years

Required: By using the Accounting Rate of Return method, which

investment project is better for the company to invest in ? and why ?

B) Discuss the benefits and dfawbacks of both accounting rate of return

H. glsharawy

method and net present value method?

Best wishes.
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Question 3 (5 Grades, 40 minutes):

The following is the fixed assets section of the balance sheet for

joint stock company for 2009:

a manufacturing

The balance sheet as at 1/1/2009
ixed assets:

Land

Buildings

- Accumulated depreciation

Plant & equipment
- Accumulated depreciation

computers
- Accumulated depreciation

Furniturc & fixtures
- Accumulated depreciation

Motor vans
-Accumulated depreciation

Total net fixed assets

7000 000
(2000 000)

4000 000
(1500 000)

900 000
(450 000)

480 000
(70 000)

300 000
(100 000)

Assets

2000 000

5000 000

2500 000

450 000

410 000

200 000

10560 000

1- A new floor costing [..E. one million was added by July 2009.

Two lifts were added during the year costing L..E. 500000.

2- New production cquipment costing one million pounds was acquired, old

plant sold: its book value

L.E:
1..15.250000 was sold for L.L. 645000.

750000, accumulated depreciation

3- Old fashion furniture with book value L.E. 150000, and accumulated
depreciation ... 30000 was sold for L.E. 122000.

4- An old motor van costing L.E.
L.E.50000, was sold for L.E. 135000.

150000, accumulated depreciation

A major overhaul to another motor van has cost of L.E. 15000.
5- A new computer system was bought for L.E. 800000.
Required: Compute the depreciation expenses for 2009 from the view point of the

tax law no, 91 for 2005.

With my best wishes

Mohamed Wahdan, PhD

o
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Exampie
Pr(r> 2.086) = 0.025
Prir>1.725) = 0.05 for df = 20
Pr(iq > 1.725) = 0.10
Pr 0.25 0.10 0.05 0.025 0.01 0.005 0.001
af 0.50 0.20 0.10 0.05 0.02 0010 - 0.002
1 1.000 3.078 6.314 12.706 3.1821 63.657 318.31
2 0.816 1.886 2.920 4.303 6.965 9.925 2.3
3 0.765 1.638 2.353 3182 4.541 5.841 10.214
4 0.741 1.533 2.132 2.776 3.747 4.604 7.173
5 0.727 1.476 2.015 2,571 3.365 4.032 5.893
6 0.718 1.440 1.943 2.447 3.143 3.707 5.208
7 0.711 1.415 1.895 2.365 2.998 3.49 4.785
8 0.706 1397 1.860 2.306 2.89%6 3.355 4.501
9 0.703 1.383 1.833 2.262 2.821 3250 4.297
10 0.700 1.372 1.812 2.228 2.764 3.169 4.144
i 0.697 1.363 1.796 2.201 2718 3.106 4.025
12 0.695 1.356 1.782 2179 2.681 3.055 3.930
13 0.694 1.350 1.771 2.160 2.650 3.012 3.852
14 0.692 1.345 1.761 2.145 2.624 2.977 3.787
15 0.691 1.341 1.753 2,131 2.602 2.947 3.733
16 0.690 1.337 1.746 2,120 2.583 2.921 3.686
17 0.689 1.333 1.740 2.110 2.567 2.89% 3.646
18 0.688 1.330 1.734 2.101 2.552 2.878 3.610
19 0.688 1.328 1.729 2.093 2.539 2.861 3.579
20 0.687 1.325 1.725 2.086 2.528 2.845 3.552
21 0.686 1.323 1.721 2.080 2.518 2.831 3.527
22 0.686 1.321 1.717 2.074 2.508 2.819 3.505
23 0.685 1.319 1.714 2.069 2.500 2.807 3.485
24 0.685 1.318 L1711 2.064 2.492 2797 3.467
25 0.684 1.316 1.708 2.060 2.485 2.787 3.450
26 0.684 1.315 1.706 2.056 2479 27719 3435
27 0.684 1.314 1.703 2.052 2.473 2. 3.421
28 0.683 1.313 1.701 2.048 2.467 2.763 3.408
29 0.683 1.311 1.699 2.045 2.462 2.756 3.396
30 0.683 1.310 1.697 2.042 2.457 2.750 3.385
40 0.681 1.303 1.684 2.021 2.423 2.704 3.307
60 0.679 1.296 1.671 2.000 2.3%0 2.660 3.232
120 0.677 1.289 1.658 1.980 2.358 2.167 3.160
w 0.674 1.282 1.645 1.960 2.326 2.576 3.090

Note: The smaller probability shown at the head of each column is the area in one tail: the larger
probability is the area in both tails.

Source: From E. S. Pearson and H. O. Hartley. eds., Biometrika Tables for Statisticioans, vol.
1. 3c ed., table 12, Cambridge University Press, New York, 1966,
Reproduced by permission of the editors and trustees d of Biomerrika.
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Final Exam- Second Term
English Section, Year Four
Course: Accounting for Financial Institutions
Date : 5—-6-2015 Time: 2 hours

Answer the following questions:

Question 1 (4 Grades, 30 minutes):

The Menoufia Company borrowed L.E. 50000 on March 11, 2009, repayable on
June 11, 2009. The loan agreement includes a provision for renewal of the loan on
the maturity date in the amount of L.E 20000 and a final maturity due of
September 11, 2009. The annual interest rate is 10%.

The bank records interest income using a simple interest method on the last day of

each month, except the month in which the loan matures, the interest income is

recorded on the number of days interest carned in that month.

Required:

Prepare the journal entries to the previous transactions from March 11, 2009 to
Dec. 11, 2009.

Question 2 (5 Grades, 45 minutes):

A: If you know the following figures (all figures in millions of pounds): |

|Total Interest Income 140 |Provision for Loan Loss 5 |

[Total Interest Expenses Income Taxcs 5 |
‘ l

i

Increases in bank’s undivided|

Total Noninterest Income - [ |
Total Noninterest Expenses | 35 | ) 1 I
Please calculate the following items illustrating the equation used in:

Net Interest Income Net Noninterest Income

Pretax net operating income,  Net Income After Taxes

Total Operating Revenues,  Total Operating Expenses

Dividends paid to Common Stockholders

B: Which of these account items or entries would normally occur on a bank's
balance sheet (Report of Condition) and which on a bank’s income statement
(Report of Income)?

Federal funds sold, Interest Received on Credit Card Loans, Depreciation on Plant
and Equipment, Other Real Estate Owned, Deposits due to Bank. Additions to
Undivided profits, Interest Paid on Money Market Deposits, Allowance for loan
losses, Common Stock, Provision for Loan Losscs, Security Gains or [osses,
Vault cash, Morlgage Owed on the Bank’s Buildings, Commercial and Industrial
Loans, Service Charges on Deposits, Leases of Business Equipment To
Customers, Repayment of Credit Card Loan, Utility Expense. Savings Deposit,
Federal funds purchased.



Faculty of Commerce.

Business Administration Dept.

4" vear Students, English Section.
Second Term - Final Exam. 2014/2015.
Date: 1/6/ 2015.

Time: 2 Hours.

Course: Strategic Management
A.Prof.Dr. Amgad Hamed Omara

Answer the following questions:
Question : (1) (8 Marks)

Despite the fact organization's vision used to be classically looked at as a dream to look forward to, pragmatic
authors of the strategic management have differently gone to argue that vision is going to be more practically
applicable if it is come to be articulated after rather than before considering the main seven issues of strategic
planning, those related to the organization's; philosophy, mission, strategy, policy, programs, tactics, and
techniques"

Show to what extent you can explain this statement through covering the items below:

e Give an extended theoretical background concerning every single one of the strategic planning
constituting steps, and then logically lude the t in each case?

¢ D ate some practical ples that are lly adopted by some organizati in reality in
relation to each one of the strategic planning structural components?

* Show how you can use the concept and theoretical background you have regarding every one of
strategic planning structural P its in luating and criticizing your empirically selected
examples relevant to each?

* Simply use an analytical method to show the extent to which you may agree/disagree with the classic

or pragmatic view about the concept of vision?

Question : (2) (7 Marks)

In your view show the extent to which, just one of the following subjects, does make a particular sense in the
field of strategic management:

* Globalization and competition in global marketplace.
o Effect of leadership and culture on strategy implementation.
* Importance of the strategy review, evaluation and control

Best wishes



